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Introduction to equations

Write the number in the box that makes the number statement true.

Write the problem as an equation. Solve these equations
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some x's = a humber
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Equations

some x's plus a number = a number

)x+2=20 a=18%

2)2x+2:=20  2x=1§

1§ 42 =170 x =19
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Bonus Questions
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some x's take a number = a number
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Put the number in the box that makes the statement true. Then solve for x
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Find the weight of 1 marble in each question
Write and equation for each problem
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"x" on both sides of the equals sign

All terms are POSITIVE
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A mixture of positive and negative terms
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